December 2, 2010

Name: A/MVA/(M /@M

Section:003 J

MA 201-003: Exam #I
Please read the following carefully.

» There are 10 questions on this exam and there are 10 points possible for each question.
The exam is worth 100 points total.

* You may not use a calculator.

¢ For any question which asks you to explain something you must write in complete English
sentences. You can lose points for incomplete or incomprehensible explanations.

e For any computation problem you must show all work. You will lose points if it is not
made clear how you arrive at an answer.

* Follow all instructions carefully. If a problem says to use a particular method, you must
use that method. No points can be awarded if you fail to use the specified method.

¢ Relax and don’t spend too much time on any one problem! Good luck.
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1. §3.1
(a) Write 2,572 in expanded notation. (2 pts)

01)4/000 54 +7x/07‘o?></

(b) What is 134 in heiroglyphics. (2 pts)

9 nnn M

(c) What number is CMLXIII? (2pt)

00 |50 \o\ 5

o

(d) Fill in the box with <,=,>: (Show your work by first converting each to our number

system.) (4 pts)
MMXV1 ? MCMLIX

Joo|B\B oeolelze] g

Egyptian Symbols for Powers of 10

o 10%=1 30! =107 107 =100, . P = 1600 10%="10,000 105 = 100000 108 = 1,000,000

Egyptian Symbol N _ f -] ' Qb " ff
Description astatf . ayoke  ascroll . val . pointing afish an amazed
: A ANETRAN finger . person
L]

o C D : M
100 ‘500 1000.




2. §5.1
For the following questions let e represent a positive integer, and o represent a negative
integer, as in colored counters.

(a) Write down the set of all integers in list notation. (2 pts)

2.72,0,0,02,.%

(b) What property is shown here: 7+ (-=7) =0 (1 pt)
Addifive (ndrse P@P@(\HA |
(¢) Demonstrate the number 3 in two different ways using colored counters. (2 pts)

N

? @ @

oy

(e) If you receive a bill for $30 and a check for $50, did your net worth increase or decrease?
By how much? (Be sure to write the correct equation before you solve.) (2 pts)

A0+ (~50) = -2 05
Fao deecwaae

(f) Demonstrate 6 + (—6) using a numberline. (1 pt)

f—
o (
(g) Fill in the box with <,=,>. (1 pt)

() 1710 -3

b



3. §5.2 For the following questions let ® represent a positive integer, and o represent a negative
integer, as in colored counters.

(a) Draw a diagram using colored counters for ~5 — (3) and solve. (2pts)

(c) The mailman brings a check for $11, a bill for $3 and another bill for $4. Are you
richer or poorer? By how much? (Be sure to write the correct equation before you

solve.) (2pts)
D) = N7

(d) The mailman brings you a check for $11 and takes away a bill for $6. Are you richer
or poorer? By how much? (Be sure to write the correct equation before you solve.)

(2pts) (2pts)

|| — (L)

(e) Write the mail-time story for the following subtraction and solve it. (2 pts)

(=5) -

The madman larm(arx
#of 35 ond +ajé,w

Dy $

Po o€~



4. §5.3

(a) Fill in the boxes with either a + or a — sign. {(We are assuming that m,n are both
positive integers. When you see —m, that will represent a negative integer, and +m
represents a positive integer, for example.) (2pts)

(2) (+m)- (+n) = Omn 4
(b) (-=m) - (+n) = Omn

(¢) (+m)- (-n) =0Omn

(d) (=m)- (-n) =Omn _*/

(e) The letter carrier takes away 4 bills for $16 each. Are you richer or poorer? By how

(f) Complete the following divisions: (3pts)

a) 12+ (-4) =
(a) (—4) ._.:))

(b) —51 + (=17) = 2

(¢) 8+(2)= __ L[_

(d) What product does this diagram illustrate? (3pts)




5. §5.4
(a) Compute 7 +12 8 = (2pts)
\
2 1\S
(G

3

(b) Compute 5 —127 = (2pts)

5+5 =
\2-T=5H

{c) Lacey went out to go shopping on Black Friday. She got home at éﬂ 00pm. She left to
go shopping 11 hours ago. What time did Lacey leave to go shopping this morning?

(2pts)
| S
=M= (ot ] =TT 00AM
|21 = \
(7 (d) Compute 8 +12 5 = (2pts)

(:ZL%O)Z@ or Yo WW@
oLl %26;0%5 Hpass o

@ompute 8 x104 = (2pts) W ")“D % .

%x%tga

(aﬁ%
20




6. §6.1 Modeling Fractions/Equivalent Fractions
Be sure to identify your units on the following problems.

(a) How many different representations are there for the fraction 1'? (1pt)

) Represent W/\:ﬁﬁﬂored regxon odel. (1pt)

(c) Represent the fraction _75 using the number line model. (1pt)

L

——f—t
-1 1 o !
(d) Represent the fraction 2 using the set model. (1pt
5

2 ok of & Cuwches ar<
Shaded- /t/t(,& unit (S
(e) Represent the fraction T¢ USIng Iraction strips. (2pts) 5 Cl(d—@@'

(f) State the Cross-Product Property of Equivalent Fractions given that § and § are
fractions. (In other words, how do we know when § = 57) (2pts)

< ad = be .
b o4 &

(g) Is L = 177 Explain. (2pts) MO

Can see Hnat UXE #  (xlT e cause

112 # lo oR. "
ok Common dienom:

5 ond SO0



7. §6.1 Simplifying fractions/Common Denominators /Ordering

(a) Write 24 in simplest terms. Explain how you know it is in simplest terms. (2 pts)

29 12 _ b _ 3 V(=

P ]
-—

7”36 -1 -9~ -3\ 3
This s n supleed A becouae Hhe denominadtor
5 pesitice and 8C0| (,3)=1 .

(b) Write ¢ in simplest t iven that 294 =2-3-72 and 84 = 22-3-7. (2pts)
Az29%
294 _ AN
s4 ~ 2%87 o

(¢) Explain in 2-3 sentences how to get two equivalent fractions but with a common de-
nominator for the fractlons and ;. (3pts)

Since 21 (S o muhple of owe an ,vae > as
o is. Then, ask oocse lves Whad ghould Wt \/V\oLvaj
7
qbg’ﬂ)gﬂ?l Since W€ must Wl(dﬁp\cj bﬂou
fean of L wﬁwlchpj \OU =2 2 3 - b
7 %3 2.1
(d) Show that ¢ < § when ad < be. (3pts) gé/ oux ’\\(\IU RAOKC_,*‘\‘OVIS ave

Geot QWO\M\OMWf 5 and QL

21

el oo ‘Q\d S

—

d d QQO\N CDY\/\)‘PQ\({"
& <
b we . C]
b Yvd
> \j ]

cnd beause ad< bC we oot < ourery e |
So Maad 4/\0@ C/A Q 6

o
Q
a”



8. §6.2 Adding and Subtracting Fractions/Mixed Numbers vs. Proper Fractions

(a) Model and solve % + % using the shaded region model. (1pt)

—3 using the number-line model.(3pts)

(¢) Model and solve 2 5 —
3l

— ”L ‘ -
2219

{d) Give an improper fraction for 3%. (Show your work.) (2pts)

BxV+8 - 2745 - 25

B/ - —— —
3 % @ q q /’\?)[Zo

- 5 féd’
(e) Compute 2‘11-+52 (Show your work) (2pts) :Z"'S’l'%* szr 7‘)/7/)" ¢ f;—z_’%
|o
(Q_ﬁ\ (6\><§?+2. - q + 9)‘! \5%
Ly 5 4
53
Q\<§ _ HLS_ ‘
— @:1 4 - _LQ,CQ
4 3o ST 225—13’

45,10% - 153 _
20 20 20



9. §6.3 Multiplying Fractions

(a) Using the rectangular area model, compute § x §. (4 pts)

, N 5shaded /5
T 3 bresprwit (g

(2 Z&

7k i
| %W/ ; | ndi ot o waik

(b) You need'to carpet a room that is 100 inches by 144 inches. The carpet store sells
their carpet in square feet. The carpet is $8 per square foot. How much money do you
have to spend on carpet, assuming you buy exactly enough? (There are 12 inches in a

foot.) (3pts)

|2
OO0 o MY _\eoxt = 100 MW
[ ,

|2 oodt d
$x (00~ §B00 govEp for canpef D

(c) A bag contains 25 marbles. If é of the marbles are blue, how many marbles are not
blue? (3pts)

25,z %9 - o af%mmwb/w-

OQ “ So ZS’(OZQ%WWW};%_




10. §6.3 Dividing Fractions

then we also have ¢ = % x £.(4pts)

(9\ Jen alhove

rult otk _gm@&% N
Trd =1

Sal RS
1
| @
Qo

N’
ola,

=

_-‘Q = O\—-——‘ - a d a  c
£ b3 b‘g) CR

a d_a_.c
| QI/\(’Q&SIOV\ Therelore 3XCT87a

(b) Draw a diagram to represent and solve the problem:
Suzy, Tiffany, and Rachel want to share 72 pounds of apples. If they decide to dis-
tribute the applese how many pounds should eachpersen—get{{(4p

‘\]

U\
X
S

and leave your answer in simplest form: (2pts)

(\ 0\
R =
S %7, (O



EXTRA CREDIT

(a) A bag contains yellow, orange and purple marbles. One-seventh of the marbles are
purple. There are fifteen more orange marbles than purple marbles. There are half as
many yellow marbles as orange marbles. How many marbles are there of each color?
(You may use any method you’d like to answer this problem.) (5pts)

NM More o\ran%ﬂiw‘a/\

pur A
Bud naeed VW%

om o 103
&ﬁ Y+o+P= bfaﬂ
So i OWML%Q Circles 19N+

V\ou?}\
3 e isn ‘Q/V\O(J’g/%.

So, W& nued 4
Ovom%li avddes ¢ fpuo \({’_ﬂou

OVOLW?CL Crcdos, 3 OCange C cwelon males op s
M@(‘OIES W(S WCLVLS Wy{ A md g marMM M
arele ¢ ol =10 =10



